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Express the following in expanded form.

a. 7000932
b. 5976080
¢ 1089234
, 4

Express the numbers in standard form. 7‘25393 AXI0
4  72586.239 &

q. 23k SR e
b 92348 a6 1 % %0
o 498752000 b
4 1000000000000 b%! .
e 1580000 1:53x10

Algebraic Expressions

Find the like . ierms of the followil
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[image: image2.jpg]11. The diameter of tyre is 77cm.Find the distance covered by it in 10
rounds. oA ) g00m

12. The diameter of a car wheel is 49cm Find how many times will it
take to cover a distance of 3080cm. Z;o

13. A 7m wide road runs around a circular park whose circumference
in 176m.Find the fencing the outer boundary of the road at the rate

of Rs.21 per metre. ﬂi};é’?‘o

¥ :
14. A wiglo is in the shiape of a square with each side as 16.5cm is bent
in the shape of a circle. Find the circumference and diameter of the

circle. ‘f AL
16. 1f the aren of & circlé is 616sq.cm Find the circumference. ¥ = _'7‘_"? e
€= Bkem
CONGRUENCE OF TRIANGLES
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1. W the given figure GR=Y P i
State third maiching pair w | DPgE SA 549
and the state the CC. = ba §§s C&
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2. Inthe given figure AD is the
Median. AB = AC. Is triangle
ABDztriangle ACD. Is £B=.2C.
Wwhy?
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3. State three pairs of equal parts

and the CC. ,
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The area of a square IGOOSq Find the area of a rectangle whose
breadth is the same as that of the square and length is 10m more
than its breadth. S= b Lowm 1 Som |, 2000m

The length and breadth of a rectangular plof are in the ratio of
4.31f the perimeter is 140m.  4owm , 30 m

The perimeter of square is 96m.The area of rectangie is 2sq.m less
than the arca of given square If the breadth of the restangle is
UmPinditslength. § = 24m | 576w ,E;&gm i

Find the area of the parallelaym-k
(i) b-Gem hefom ~ BOEm

() be7em hedom 2R Om
(ili) b-8.dem haziem VT~ 6o

a

Find the area of the triangle,
(i) bebom haflom AT
(i) b12cm hefom 3ot

Tind the missing values of the following:

Base Height | Areaof QQA}'ea §E
triangle | parallelogram
Bhom 3.2 |ottmaam | — |
- 18em. Zl6sgom | T
7.8cm P -8‘~ 32.76sq.0m e
L P78 | - | 1708uqem
{ -~ go [oldem | - |asi%qem
?*30 8om | -~ 240sq.0m

Find the cireurmference of a citcle whose dinmeier is (1) (0o (b)

7.7cm gi__:'; 21”’2
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-m*+6mn from 4m*-2mn+7
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Simplify if x=-2,2--3 b--1
3x-6-x40 ©
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Perimeter and Area

Find the breadth of a rectangulur plot of fand if its aven is #80sqm
and the length is 44m. Also find its perimeter. 00 M 3 128 wn

Perimeter of 4 rectangular sheet is 400cm.If the lsngih is e
B0cm Find its breadth and also find ity arca. (8D €m o

Find the area of a square whose perimeter is 160m. 4y y 1 ot





